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QUESTION 1

A construction company is building a new staircase. You previously determined that there are to be 14 risers and 13
treads. However, you forgot to write down what the width of each tread should be. Determine the width of each tread. 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: E 

 

 

QUESTION 2

You are traveling to Chicago for a job interview. You leave Toledo, Ohio, at 5:45 A.M. and arrive in Elkhart, Indiana, at
8:15 A.M. The distance from Toledo to Elkhart is 136 miles; the distance from Toledo to Chicago is 244 miles. The
speed limit is 65 mph. What is the minimum speed you must maintain in order to arrive in Chicago before 10:30 A.M.? 

WORKKEYS Practice Test | WORKKEYS Study Guide | WORKKEYS Exam Questions                               2 / 4

https://www.geekcert.com/workkeys.html
https://www.geekcert.com/workkeys.html
https://www.geekcert.com/workkeys.html


https://www.geekcert.com/workkeys.html
2024 Latest geekcert WORKKEYS PDF and VCE dumps Download

A. 45 mph 

B. 48 mph 

C. 50 mph 

D. 58 mph 

E. 60 mph 

Correct Answer: B 

 

 

QUESTION 3

A carpenter earning $15.25 per hour receives a 6% increase in pay. What is the carpenter\\'s new hourly rate? 

A. $12.92 

B. $16.17 

C. $21.25 

D. $26.25 

E. $254.17 

Correct Answer: B 

 

 

QUESTION 4

John waits in line for 1.5 hours to ride the Screaming Demon roller coaster. How many calories does he use? 

A. 111 calories 

B. 156 calories 

C. 234 calories 
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D. 312 calories 

E. 2340 calories 

Correct Answer: C 

 

 

QUESTION 5

An auto technician uses a micrometer to make two measurements. The first measurement is 2.374 units and the second
measurement is 3.005 units. What is the total of the two? 

A. 0.626 

B. 0.631 

C. 4.374 

D. 5.165 

E. 5.379 

Correct Answer: E 
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